‘k Choose the correct alternatives in each of the following :

1. The degree of polynomial @%b + 6ab® + 5a°b° is

a |
(@ 3 ) 2 © 5
2
2. The value of expression D0 forw=-2is
7 7

(a) 2 () 0 © —3
3.  What must be added to 1 - 2x to get -2 + 5x ?

(@) 3-7x (b) -1 +3x (c) 7x-3

4. The statement, “4 times a number p is added to 3 times a number q” is expressed in algebraic expressionff

as
(@) (4+p)+(3+9) (b) 4p+3q (c) 3pt+4q

The expression 2z-5x+7y isa
~ (a) binomial (b) trinomial (c) monomial

()

quadratic polynomial
none of these
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(d) infinite

(d) 3x+1

(d) None of these

(d) cubic polynomi fi

(@) -5¢*

\
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Fill in the blanks -

1. A symbol which takes various numerical values is called a

The terms not having same variable factors are called
The degree of non-zerg constant polynomial is

--------------------------------------
.....................................

.....................................

Linear polynomial is a polynomial of degree

A polynomial of degree three is called a
A binomial has

-------------------------------------

-------------------------------------

et L et ol wd

5—x
%

7. The value of

, when x = — 2 is

8. On subtracting 3xy from —7xy, we e ey

e et R A must be added to @’ - b° to get —2b°.
L e e must be subtracted from —10ab’c to get 4ab’c.

'REVIEW EXERCISE

1. Write the degree of the following polynomials :
(i) 6x*y—2x"y’ —xy+7 (i) xyz—x* +6x°

2. For the polynomial : 9y* —4x+7y’ -5, find
(i) its degree (11) number of terms

(1if) constant term (iv) coefficient of x.

3. Simplify : 5x° +7 - 2x+3x" +4x+1
4. Find the value of the expression for the indicated value of the variables :

for a=2,b=-1
a+b

(7) —%xz +5x-2 forx=-3

5. Add :

(i) 7x°+2x*-5x-7 and -5x*+x’ +4x-5 (ii)
b. Subtract :
(i) -10x+8y from 2y-5x (ii) 9a° ~7ak
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7. What should be added to 7x* -5x+1 to get -3x" +4x+77

8. Subtract 2x + 6 from the sum of x’ +4x+6 and 8-x' +6x.

9. What should be subtracted from 17x’ -8x" +11 to obtain 14x" +8x" - 51467
10. IfP=x"46,Q=3x"-x+2 and R = x’ - 4x, then find P+ Q - R.

11. Evaluate :

71‘2y+5xy+%x‘ for x = -1 and v = 2.

- [ ——————
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